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A T F w00 s S6 A WA % o %) It 5 qem § st 6 21 g 1
FeA F1 g Fifa

The molecules of water have more energy as compared to molecules of ice at
same temperature. Justify this statement.

/A o B S Tea o i ffa - 1
(a)  WIHTEIRET FITH 61 o008 Fowig o
(b)  HIfEER § %= S + 1 =

Identify and name the following cell structures :
{a) The undefined nuclear region of prokaryotic cell.
(b)  Site of energy release inside the cell.

¥ 3 g o %1 e S Yew Se de e W AR w5 v ) b e 1
Codd
Name the unbalanced force which slows down a moving bicycle when we stop
pedalling it.

A 500 mL 9 & s St F 2 m1. Eeier oo e i €1 e =m S fefa 2

2 mL of dettol is added to a beaker containing 500 ml. of water and stirred. State
four observations that you make.

5 'ﬁﬁﬁﬁ?ﬁ%ﬂgﬂ%ﬂ&ﬁﬁﬁﬁq?ﬁ%wﬁﬁwmmﬁ%mﬁ
Wi Fa &1 A (Sl S T T IR 29 gU g FYH F i Fi

Properties of a compound are different from its constituents, while a mixture
shows the properties of its constituent elements. Justify this statement taking, the
example of iron and sulphur.

/6-'/ (@)  Ulcwe Al 1 seret Usit oft e s &1 qfe Fifew 2
(b) A Ufems U 1 2 FETerE e fafan
(a) Voluntary muscles are also known as skeletal muscles, Justify.
(b Give two shucturdxharactcrisﬁcs of these voluntary muscles.

ka

A & e O w5 ¥ oo w1 9 S | uw wve e s & <9 | S 2
JeEt GE UES YEA ? AR ST aegedl w1 fata o fmr un, & s am? s
o ferg R fafa |
A coin and a piece of paper are dropped simultaneously from the same height.
a: Which of the two will touch the ground first ? What will happen if they are
2 dropped in vacuum ? Give reason for your answer.
8.  (a) T =1 W o9 AN us fadsh A W Am fafag 3

(b) T uTer W W A e €1 e S 4§
(@ & Frfl %1 fafae i wepe smer # afess wren o e fean s
Frfeu |
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Name two vitamins that should be included in high amount in poultry
feed.

/i?// Name one indigenous and one exotic breed of domestic fowl.
) What are the two main products obtained from raising domestic fowl ?
y
9. (a)  =7EY WY AW H 51 fadand fafan

(b) R F g 79 A Fh w5 w9 ¥ A uen S S T 4 =Rl

ST &1 A el o 27

(c) === =1 <1 S Tl o ferfaw
Ad]  State two characteristics of an ideal cattle shed.
/Lbﬁ/ Cattles are mainly reared for milk or performing agricultural tasks. What

are these two categories of cattles known as ?
)t{ Name two indigenous breeds of cattles.

10.  FET SEAIEE 1 UF &8 fafermet § far v ok 3w e wriifed i m
(a)  FHWHH F QU EA W eH =Y e o) deen 9w g 7
(b) 39 WEH & A ug g fefan
(c) R TSU TU uhH W AW N AT IeE W A 2

Carbon dioxide was taken in an enclosed cylinder and compressed by applying
pressure
] Which state of matter will we obtain after completion of the process ?
T Name and define this process.

0 Lz"f What is the common name of the product obtained in the above process?

/H/ Hifeeh i TamEfE witadst 3§ 9 9 s fafan) T s fafan faad
AR wErEfE gigdq dH dn )

Write any two differences between physical and chemical changes. Give one

example in which both physical and chemical changes take place.
12 (a) 9IS SRS Fife 7 1 Q) S @ 3R 2 anEan getes Fie |
(by  FHET AR fes Sig T #5124 wv2 % fow sge se F v fear w2
/(J) List any two structural differences and two similarities between a plant
cell and an animal cell.

) What would happen if an animal cell is kept in distilled water for 24
hours 7

/3-/ el ® faeiiE 21 vR % Haed Sae § v fq9et aun vs e wueEa fefe

State onc distinguishing feature and one similarity betwéen the btwo types of
transporting tissues present in plants.

14. frafdafeEs vE 8 e =E] gRy H0F segiHe @ ugy i 8 9t aafefa o9t
ferfam
(a) el i Fafa sfhe =9 | = 2 €
(b)  =fus SFaUeIfTERTE T AT Fas AR FfvEE F Ter e i At e
et & |
() e ), e o ga At ¥
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Identify the simple permanent plant tissue with the following descriptions and
also mention their location in the plant body :

(a) Cells have irregular wall thickenings

(b) Tissues with large inter cellular spaces and cells having large air cavity.
(c) Cells are long narrow and dead in nature.

15. quw—mmwmaﬂﬁqamﬁﬁmﬁ#mfﬁfm| 3
_. 80
] A B
‘“gécr : ‘
Eéﬂ ; :
204 : E
: : : S

-~ 0 20 40 60 B0

THA (s)

(a)  OA BRI T v =i 7fa wefvim =+ 7 &7
(b)  BRCTH o =0 A Hitan |
()  TIv= g1 A 9 B 7% od it 7S =0 wRsfag wifa

Study the speed time graph of a car along side and answer the following
questions.
&

speed (m/s)
g [ =l = g
D O

. i : <
20 40 60 80
time (s)
/@q‘]” What type of motion is represented by QA ?
/;bl? Find acceleration from B to C.

Calculate the distance covered by the body from A to B.

e
-

o

/ﬁW%W@W@WWﬂHWﬁE‘%EﬁﬁTWW%I THH 3
fou o fefay )

A passenger in a moving car slips to one side of the seat when the car takes a
sharp turn. Give reason for it.

/7./ 15 m/s T WRIE 6 9 96 @ 200 kg F 072 7250 N H1 757 w6 5 =07 1@ 3
21 fuve %1 w4 o fra yug e ? e F a2 @ wee oy feed o T

& 7

A constant force of friction of 50 N is acting on a body of mass 200 kg moving

initially with a speed of 15 m/s. How long does the body take to stop ? What
distance will it cover before coming to rest ?

%gﬁqﬁtﬁm i e e A A s fafag 3
Write three differences between gravitational constant and acceleration due to
gravity.
"?I\ k Page 5 of 15
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y/ﬁtﬂﬂaﬁﬁmmmﬂwm TETRY T T TN © 1 59 aFl aegel & arg &t gl
: s v afafaa =1 90 fF 29 & <9 o9 9 96 50 N8 S 7

The gravitational force between two objects is 100 N. How should the distance
between these objects be changed so that force between them becomes 50 M.

20. (a) OO Erge tfrg v o titm e sfem F mmm am s R 5
(b) U gEen = wyEEE w1 AW fafae ) 9y sEea # faw eet we w5 aeEm
#14 % 2 FRv fefE)
()  IadEd 7 & [orEr S wifET 9 9 U R e |
{a) What are the common names of Apis dorsala, Apis florae and Apis cerena
indica ?
y/ Name one [talian bee variety. Also justify the use of Italian bee for honey
production giving two reasons.
M State one factor which affects the quality of honey produced.
HeET S OR
(a) 771 =T TUE 39T F T WER gua € NS
; - P
(i) E"IET qigsaq Fiel ﬂ (A‘.) v
(iiy  Sffas 7en sfas sfwass {,:—* s
(iif) =49 AJHAA : V
(b)  wHw & faw] & gard = w8 21 fafugl S Sl 2 %
{a) How do the following factors improve the crop vield ? (;(q.gx F * \}
(i) Sherter maturity duration. 3,:’ e
{ii} Biotic and abiotic resistance. : R\
(iif) ~ Wider adaptability - Eﬁ_" \
() State any two methods of improving crop variety. \ 'ﬂ;: \ P )y
o : : e AADY %
21 (a) T IO S SR R faw e sl e A st it VA 7\ 7

i) emed e

(i) o 3 S T v iR wla, R e aen s

fet wei &1 ftafum wifa
@ T MM“"" |
Gy HergE ¢ G )
iy fEEEm '
Arrange the following in the increasing order of

, /" %/ :
(i) force of aHraction { Yai. 9 -f |
(i) Intermolecular space }g_ : \/

Iron nail, kerosene and oxygen gas.

[Define the following terms : \ 1\ I
(1) Rigidity |
fii} Compressibility
{in)  Diffusion K}}
¥
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T el 3w = fow # 5 mi wer foray T A9 F) A9 9 o fafie
ffesrfe 7 T
(a) S FE A9l F S v
(b)  =HTTE F e F siet W

T Teafa & g 860 & 22 HH T F g9l o 9 S
mfmwmaﬁaﬁ;ﬁaﬂmmﬁﬁqfﬂm af a2 TR
W IRafda it ? =199 = =y qfE Fife
> ml of water was taken in a test tube and china dish separately. These samples
were then kept under different conditions as below
{a) Both the samples are kept under a fan.
(b) Both the samples are kept inside a cup board.

State in which case evaporation will be faster ? Give reason to support

your answer.

How will the rate of evaporation change if above activity is carried out
on a rainy day. Justify your answer.

/(a;. e iR Jreafas faeem o
- (i) B

23.

(il  AnEfifar
(iif)  Teorm % 29w W o ARvieag St
(b) S e R & s ol et fvaee yam e fear s
[f{} Tabulate the difference between suspension and true solution with

respect to.
(i) Filtration
{ii) Transparency

(iii)  Stability
}ﬁj Give two examples from daily life where Tyndal effect is observed,

ST 7 OR

(a) @IE F Srer, WEURY THE IR W F fagw F wewl w vuw FO F g

ELE] WEd ST |
(by  TorweilEw & FE ®7E o SyEm fafay
(a} Qutline a scheme to separate the constituents of mixture containing Iron

fillings, common salt and sand.
(b} Write any two applications of crystallisation.

(a) Hﬁﬁqﬁrﬂmﬂﬁﬁf&mmﬁ=ut+%atz e i |

(b) X HR UHEAH BT § AT AF 5 ¢ § 18 km/h ¥ 36 km/h F1 1fF W
FAT E | TR HIAC
() @R
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(i) =07 999 9 SR 5 7 F gl

/ Derive second equation of motion S= ut+ éz’tt2 graphically, where

24,

the symbols have their usual meanings.
A car accelerates uniformly from 18 km/h to 36 km/h in 5 seconds.

Calculate :
(1) the acceleration and
(i) the distance covered by the car in that ime.

HEET » OR

(a)  UFHEHE FHrg o w1 wioaiug #ifam )

(b) T W yo9 S forg 9fafEA U g9 ues 4 s ¥ 9% 4 o9 ¥ il e
U Rt 1 HAAT € | A% T 1 S 420 m B A IS = T F e

() T TEE TF FHE G K A-GH9 UE ANfEd w0 379 T A 3
ot five g @@ =t W off o wom 3@ #in 7

{a) Define uniform circular motion.

(b} Ram goes for a morning walk in a circular park daily. He completes one
revolution of the park in 4 minutes. Find his speed if the diameter of the
park is 420 m.

(c) Draw velocity-time graph for uniform motion along a straight line. How
can you find distance covered by a body from this graph ?

(@) T S uRiE F 1 TS, W o AR F 9 9EE aFn o et
o i Tave s fou ma €1 = | forae wig arfus S waE S

(b)  HEAE % WA H E EH dea § i w3 Y T @ wed 9
T T € W AT oI 1 wRe e wi |

(a) Define inertia. You are provided with three bodies made up of wood,
rubber and iron of same shape and size. Which one of them will have
greater inertia. Explain it.

(b When a striker hits the bottom of the pile of coins placed at the centre of

a carom board, only the lowest coin is removed. Give reason for it.
HEET S OR

/@( w3 <) wienfva e s o1 e fafiau

;{@mmwﬁmﬁnw%lfﬂmﬁnm%aﬂ(mﬁ?

);,)/amﬂmxsaﬁaﬁﬁaﬁﬁzﬂgmﬂﬂaﬁﬁﬁlkgmﬁaﬁ%
TEF F THEAA] © AN IHH °W w0l | TEw &1 mer whed =t il )

{a) Define momentum. Write its 5.1, unit.
(b) A car and a truck have same momentum, Whose velocity is more and
why ?

{c) A bullet of mass 20 g moving with a speed of 500 m/s strikes a wooden

block of mass 1 kg and gets embedded in it. Find the speed with whif.']wpm_{{

~nD ©
D‘I“DD

block moves along with the bullet 7
g
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27.

HM-&/ SECTION - B

THAT T A1 F P ¥ 2 - 3 FF arde o o ol sw g S gt
1 TREdT g -

(a) i ufiaidy & s

(b)  ret-=r &1 F feafia 2w 2

(¢) = T H gfafda & v 3

(d) & &t & F uRafda & o

Ekta added 2 - 3 drops of iodine solution to potato extract. The colour change.

which she is likely to observe is :
{a) colour changes to brown

_¥) calour changes to blue black

(c} colour changes to black
(d)  colour changes to deep orange.

s A2f7et Aelt g sfEiE g ¥ e 9 vz wEeEet a ST ST ®, W S
T Wi Uik fvan smar & we d

(a) TS =1 97 Y e ¥ aem s

(b) TS & I e fie F wmm i

(c)  TH=re TmEE & e B

(d) Frare =1 o1 ey Hal F Aot s

The colour change which would be observed when Conc. Hydrochloric acid is
added to the extract of dal adulterated with metanil yellow is :

(a) colour of extract changes to deep pink.

(b) colour of extract changes to deep yellow.

{c) colour of extract disappears.
colour of extract changes to deep orange.

U | H 50 ¢ 76 3 a5 e &1 59 fago w5 aowE €

@ ocCHFH ()  0°C

(0 0°CH sfim (d) 4°C

A beaker contains 50 g of ice and water mixture, The temperature of this
mixture is :

(a) less than 0°C B 0°C

{c) more than 0°C (d) 4°C

Hﬁﬁﬁmmm%ﬁmﬂnﬁmm@:mﬂwﬂﬁaﬁwﬁ%fﬁa'artrmiﬁ
] S Wikl F SIAR] bl T8l 91 G0 | 9% WEUE! SHieT atat 9§ i

(a) R T SiER! @ A 100°C § dign st g

(b) STt H SER F A9HM 100°C ¥ F9 HH B 2
()  TAT & FTd Hi 22 H TIE w6t 3
(dy S BT TR
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Fall

In order to find the boiling point of water one of the precautions is that the bulb
of the thermometer should not touch the sides of the beaker. This precaution is
taken because ;
P}/ sides of the beaker are at slightly higher temperature than 100°C.

(b} sides of the beaker are at slightly lower temperature than 100°C.

(c) the bulb of thermometer is likely to break.

(d) none of the above,

mﬁﬁwﬁmg.iaﬁhmww&:ﬁ%wﬁgwm%ﬁmmmwa@ﬁ
= W HH &

(a)  BFH, 39, ST &R T S g

(b)  3HuEH, Ul o S B, S

(c) &, IH | wiern, I ot ane

(d) =T, 9HI H SEE, B 2 S

The correct sequence of steps taken for separating the mixture of ammonium
chloride, sand and common salt is

(a) filtration, evaporation, sublimation and dissolving in water.
KB sublimation, dissolving in water, filtration and evaporation,

(c) filtration, dissolving in walter, sublimation and evaporation.

{d)  evaporation, dissolving in water, filtration and sublimation.

v faendl %1 Se # =1 F1 arates e T9R w1 ) ww v vadt © s
&fmwﬁ?ﬁﬂmﬁ:-myﬁﬁﬁmﬁﬁaﬂ@@wﬁﬁavé:
5 faersa %1 o fdes (feeee) &9

(a) Al foeEa

(by  wrezE faeaa

(c)  Frefem

(d) arafas faees o Fenget faues & gwar 2

A student was asked to prepare a true solution of sugar in water. By chance, he

added sugar in excess. He stirred for quite sometime but some of it settled
down. He filtered the contents. The filtrate will be

M True solution

(b) Colloidal solution
(c) Suspension
(d) Can be true solution or colloidal solution,
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31. aﬁ%ﬁﬁﬁﬁmaﬁtww%ﬁwﬁnﬁmﬁﬁaﬁ%ﬂ%%: 1

(a) {1 (b) (IT) (c) (111) (d) (V)
The correct procedure for heating a mixture of iron filings and sulphur powder
i5:

e ——

B I
e "E"_-......... .- .-'.'..-:-...—_:L__—t" "

China dish s

R Copper dish

(b) (1) () (I (dy @)

32.  ¥F s & sl %1 7 Herdfis 9w ¥ wm afufEa =1 w6 5w 91 s 1
ot e w1 3 Wiaa foen ) 2y aifife 9 oo e aedem &, = g e =
Eﬁ'ﬁﬁﬂ(@‘ﬁﬁfﬁ%:
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Ankur was doing an experiment to carry out the reaction of zinc granules with
dil. sulphuric acid. He observed that a gas is being evolved. The safest method
to detect whether the gas produced in the reaction is hydrogen is :

¢
5@ ®  ® © © @ o

ﬁ%aﬁﬁﬂmaﬂtwmﬁ?ﬁmﬁﬁaﬁmmwaﬁwwﬁﬂ 1
o ey S WE ¥

(a) e = Fier gEs 9 fags s

(b) N HFE FEEEE T

(c} ¢ ¥ How WSSt W 557 % smum

(d) =Hi(a) 3R (g)

When a magnet is moved repeatedly through a mixture of iron fillings and

sulphur powder, the observation which is correct is :

(a) Iron fillings will stick to the magnet

(b) A black mass of iron sulphide will be produced.

() Sulphur powder will be left in a tray.
_/{dﬂ// Both {a) and (c}

T @t Fiw wehe faeen de 99 0w R w1 wte o ) S § 1 1

HERAHE MUAT e T SR F Gede faaad & Ay ke fea ) em

19z v T hiet F Fraen @ R amem e e fen o sl

= F arrdt fiatd s #

(a) e g

(b) W ATYHT

(¢)  "EE H & giEdT T8

(d)  a9Ee F SREE FI wehe % fooms =1 o w felk wm

An iron nail is placed in a beaker containing copper sulphate solution. In the

beaker, a sensitive thermometer is suspended and the temperalure of copper

sulphate solution is recorded. The nail is taken out after 10 minutes and the

temperature is again recorded. The thermometer at the end of experiment

records.

{a) higher temperature

(b) lower temperature

(<) no change in temperature

:i}']}/ Change in temperature depends upoen the amount of copper sulphate
solubion taken.
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35. Wﬁ%ﬁmmﬂmrmmsﬁmﬁﬁﬁﬁﬁaﬂm%mw 1
AT HMET -

(@) = ® = (@ Tt @ =
To take out the peel from onion for preparation of temporary mount of it we
should use :
(a) Needle (b) brush (©) forceps —d}  knife
36. mﬁmmﬁﬁmﬁmmmﬁaﬂmﬁwﬁm Eaitica) 1
ST St e foman wmem Aw ¥
(a)  wifer fufa (b)  WREET=Em
(€ F== (d)  fremg

Raman prepared a temporary mount of human cheek cells and observed it
under a microscope. The cell organeile which will be observed is -

(a) cell wall (b mitochondria
nucleus {d) nucleclus
37. mmﬁﬁmﬁmﬁmmﬁ%aﬁwﬁﬁqw%:_ 1

(i) a?qﬁa(ma)é;-mﬁmqmﬁwﬁaﬂﬁﬁmmmﬁﬂ%
(@) w8 () R OF 4 fereda w1 ot

(i) DT o A = 7 o

(iv) T8 W= 9 SR mE e § Oy

WO F e a T

(@ @ ) () (iv)

() (v) () () i)

@ (v @ @) (i)

d) @ @) @@ ()

Given below are four steps for preparing a temporary mount of human cheek

cells :
ﬁ (i) Taking scraping from inner side of the cheek and spreading it on a clean
slide. 4
i) Putting a drop of glycerine on the material
(iii)  Adding two or three drops of methylene blue.
(iv)  Rinsing the mouth with fresh water and disinfectant solution.
/y The correct sequence of these steps is';
(@ ) (@) @) (i)
® v @ @ @
(S O T C N S
@ O @ @ (v

38. #ﬁmaﬁﬁm%ﬁwﬁaﬁuﬁﬁ?ﬁmgﬁﬁﬁﬁ%ﬁmm%lWLQ,'&,Hﬁ 1
el TE=E HA:

B

RS

=
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(a)  EgBz, FIVE 559, Freae Hine, dfm T
(b)  Hifer, sfad=h sfern, feasior, 9
() =M, wifee F18, s s, @

(d) Zowe, i T s, dhme

A figure depicting parts of a neuron is given below. The correct identification of
the labels 1, 2, 3, 4 respectively is -

= SP
=
{a) dendrite, cytoplasm, nissl granules, nerve fibre.
(B} cilia, endoplasmic reticulum nucleolus, nerve fibre
(<) dendron, cell body, nissl granules, axon

y dendrites, cell body nucleus, axon.

T W1 SR H Uh W WEE #) gaae g i wv § s fy 69 R 1
T AN H I | o7 AF e i

(a)  RIET=HISH F SRS H12

(b)  FEHEW F1 T FE

()  TECHRIEAl & YR FE

(d)  THCTHEH F oEad T2

Raman observes a permanent slide of plant tissue under a microscope as shown
in the figure below. He identifies the tissue as :

/{a{‘ transverse section of collenchyma

(b) longitudinal section of collenchyma
(c) fransverse section of sclerenchyma
{d) longitudinal section of sclerenchyma

Torwfaer g =1avifvm <1 <1 ufasemr 9 9 & @m0 958 T 9 8 fsg 1
i &I AEvEFAl el Bl & 7
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41.

42,

(a) TR TR FEE
(b)  Hut frwfm
(¢} ge

@

While conducting an experiment to calculate the percentage of water absorbed
by raisins which of the following materials is not required ?

blotting paper (b) dry raisins
() weighing balance {d) needle

aﬁﬁhm@awmﬁmm%ﬂﬁ#ﬁaﬁmwﬂﬁmw 1
I FE B IR F F AU 97 FHARR gand & 7 ) IR FAAER Fon] &
RT3 AeTanie = T &y =1 8 9 foemr SRR ae %1 997 47
(@)  TRETO - 100 gwt ; SETwHIT 10 gwt
(b)  9IRHLO0 - 10 gwt ; ATTHE 1 gwt
() HRELO-10 gwt; STETaF 2 gwt
(d)  RE0-100 gwt; FEITHH 1 pwt
Four spring balances are provided to find the minimum force required to move
a rectangular wooden block lying on a wooden table, Range and least count of
four spring balances are given below. Which of the following spring balance
will you select.
~(a) Range (0 - 100 gwt and least count of 10 gwt
< Range 0 - 10 gwt and least count of 1 gwt

(c) Range 0 - 10 gwt and least count of 2 gwt
(d) Range 0 - 100 gwtand least count of 1 gwit

& Bl W fors SEaeR THE F eE ¥ R 941 90 fagen o 3 f 1
T FEIIF G i HAFGH qO0 o W F w40 F w0 56 Tiew e S

o

(a)  wfus sz, &9 99

(b)  FH EE, AHH Iw

(c) xSz, afys =71

(d) e 2I% 96§ B Fawy 368 8

While doing an experiment to find the relationship between the weight of a

rectangular wooden block lying on a horizontal table and the minimum force
required to just move it using a spring balance it is observed that :

(a) more inertia less force
{b) less inertia more force
more inertia more force
\g}/ no relationship between inertia and force.

-00o-
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